2. E} Al - = |22

B ADE oz (5

)

z A kS| A SE=AB)
N (A+B) ™)
A~ A 7| E} 371 ¢

A 1,510,950 1,989,118 1,593,028 396,090 227,782 168,308
M e 237,118 300,160 228,627 71,533 63,362 8,171
54 84,955 111,896 87,075 24,821 18,464 6,357
o7 57,571 76,613 59,977 16,636 12,416 4,220
S| 78,663 104,268 71,720 32,548 16,929 15,619
& F 34,095 45,803 38,473 7,330 3,843 3,487
o A 31,195 42,025 34,610 7,415 3,441 3,974
2 o 28,666 36,611 29,162 7,449 3,331 4,118
4 7] 284,760 376,612 282,765 93,847 34,020 59,827
AR 72,391 95,407 81,569 13,838 7,486 6,352
z= 58,797 78,400 66,896 11,504 5,425 6,079
= 87,054 118,152 97,680 20,472 10,621 9,851
o5 80,163 108,396 94,421 13,975 7,150 6,825
M e 101,211 136,797 120,304 16,493 8,815 7,678
4= 125,124 166,919 139,298 27,621 15,434 12,187
49 119,907 160,299 135,955 24,344 12,465 11,879
H = 29,279 30,763 24,497 6,266 4,580 1,686
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B ATE iR (5F)

(Sl AR, %
Kbl =) SYY XA Zrod x| x| 2
Al 2 etk A x| tfiH M | o
ol &= AlE | mEz s AR | AFE
XIS | M2l | IEA| Hxa mxa [P

A |1,593,028 | 537,953 | 134,000 | 292,122 | 465,429 | 81,943 | 65,868 | 15,713 | 52.3 | 77.2
M 2| 228,627 | 146,519 24,967 | 2,293 | 26,340 | 11,867 | 16,641 - | 902 | 91.5
2 oA 87,075 32,116| 7,616 | 11,535 | 24189 | 5,714| 4,225| 1680 | 57.4 | 757
o T 59,977 20,310/ 4,976 | 9,808 | 17,469 | 3,747 | 2,563 | 1,104 | 52.8 | 75.4
ol ™ 71,720 31,966/ 9,008 | 4,701 | 17,165| 5,019 | 3,583 278 | 71.0 | 80.6
4 = 38,473 11,256 2,490 6,237 | 13,012 2,602 1,905 969 | 46.6 | 69.9
o 34,610 12,759| 2,592 | 4,273 | 9,608 | 3,024 | 1,661 693 | 58.3 | 76.2
2 o 29,162 13,378/ 2,884 | 2,058 | 6,707 | 1,719 | 1,741 675| 71.2 | 80.9
4 7| | 282,765 | 132,432 28,989 | 18,337 | 66,100 | 13,917 | 18,669 | 4,321 | 72.6 | 81.7
z & 81,569 | 12,589 | 5,125 | 30,098 | 28,805 | 3,403 | 1,210 339 | 26.9 | 74.1
&5 66,896 12,949| 5,144 | 19,793 | 23,555 | 3,558 | 1,488 410 | 34.2 | 73.6
=4 97,680 21,480| 6,288 | 25,282 | 37,552 | 4,371 2,217 490 | 35.5 | 71.0
N 94,421 13,780/ 5,550 | 30,086 | 38,656 | 4,405| 1,515 428 | 26.0 | 69.3
M H| 120,304 14,216| 6,403 | 40,109 | 53,599 | 4,358 | 1,005 613 | 21.4 | 66.8
42 5| 139,298 22,312| 9,974 | 47,261 | 50,130 | 6,829 | 2,107 685 | 28.3 | 73.1
4 | 135,955 34,129 10,317 | 30,943 | 45,393 | 7,409 | 5,336 | 2,428 | 43.3 | 74.5
X = 24,497 5,762 1,677 9,309 7,150 - - 600 | 28.5 | 68.1
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2. E} Al - = W22

B ANEZ=F qarz
(Etel - AR, %
R o nEM | NEXEE | AR
Al (ks A)
A U5 A | SEEEA | XM | Ml | nEM | =9 % || % | =9
A 1,026,972 | 786,304 | 240,668 | 371,650 | 49,961 | 91,747
M| 217,829 | 152,017 | 65,812 | 126,397 9,822 | 1,200 | 16 | 88.7| 1 |89.6| 1
£t 79,867 | 57,263 | 22,604 | 27,106 4,557 | 10,202 | 1 529 | 5 |71.7| 5
o 54,996 | 38,926 | 16,070 | 16,597 2,966 | 8,533 | 5 | 47.6| 7 |70.7| 6
el A 75,448 | 44,428 | 31,020 | 26,265 5815| 2819| 13 | 70.4| 2 |771 | 2
4 F 32,814 | 25,921 6,894 9,719 1,550 | 5,996 | 8 | 41.1| 8 |652| 8
o 29,120 | 22,395 6,725 | 10,686 1,679 | 4,063 | 11 | 52.7| 6 |71.8]| 4
2 N 24,869 | 17,929 6,940 | 10,200 1,575 1,447 | 15 | 63.7 | 3 |[72.2]| 3
Z 7| 152,359 | 120,939 | 31,420 | 71,333 8,731 2,022 14 | 61.7| 4 [63.6| 9
A 34,461 | 30,370 4,091 6,830 1,005 | 6,086 | 7 | 225| 13 [43.4| 12
z= 31,210 | 26,786 4,423 6,536 1,748 | 5,036 | 10 | 27.6 | 12 [47.3| 10
s 4 45,847 | 38,700 7,147 | 10,750 1,693 | 5170 | 9 | 28.6| 10 [42.7 | 13
o= 43,075 | 36,945 6,130 7,314 1,441 7159 | 6 | 21.1| 15 |41.1 | 15
e 53,503 | 46,590 6,913 6,530 1,402 | 8,840 | 4 | 14.6| 16 [34.1| 16
= 61,357 | 51,500 9,857 | 11,001 2150 | 9,809 | 2 | 22.5| 13 |42.3| 14
4 59,453 51,097 8,356 | 18,624 2,150 4056 | 12 | 36.6| 9 |451 | 11
o = 30,763 | 24,497 6,266 5,762 1,677 | 9,309 | 3 28.2| 11 |67.4| 7
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